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1. The correct sequence of taxonomic|1. NCFITED %#@d DG BoBNY BOINT -
hierarchy is 363 B3 D8 BT

(A) Genus —» Family — Class — Order (A) BT — TV — T — SBFO

— Phylum — Kingdom — Species 2 .
— FORT - WRRK, - T
(B) Species —» Genus — Family —

Order — Class — Phylum — B) BJPed — VIT — TR0 —
SgECun BB - WF o PO o
(C) Species — Family —» Genus — RN
Kingdom — Order — Class — =u '
Phylum ©) JPew - WO - VST -
(D) Species - Genus — Family — Class m@% - OBFT - I -
— Order —» Phylum — Kingdom ?é@w
= 22031 - A% -t
2. Match the animals of Column I with their ©) %wed DRI = % O > 3
respective classes in Column II and — UBFOF - FORF — TOBRR,
choose the correct answer. 2. @@dolde}odod @%ﬁ%ﬁd&@@o I dQ,dDd
Column I Column IT ot (@:"’-e) nen @mmﬁ TBRODR,
-
1. Aptenodytes 1. Aves Na‘mmda?’l@oj%ma

2. Hemidactylus II. Chondrichthyes PO [ : oo II

1. sBZecdess® I IFned
3. Carcharodon III. Mammalia wﬁm kel =4

2. @B T 1L BYBRNICIOND
4. Pteropus IV. Reptilia i o

3. B0 TYBRETIIL. IZIN

V. Osteichthyes
Z 4 wedpeET IV, Boc3ERh
Select _the ¢.:0de f.'or the correct answer V. Sssaoesonsd
from the options given below :
1 2 3 4 R03eBNY FTODOT AD emgdﬁ#dl &S0R :

AV II v I 1 2 3 4
® I v m I = ey g

B 1 v 111 11
D)y 1 v II II1 D 1 v 11 III

Space for Rough Work / 2,883 i’@ﬁ% ﬁ@%?
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3. Choose the correct floral formula of the [ 3. @9, 8RN JRFEN ROBROTT DR,
given floral diagram. mg 33 S0PING.
Al

‘ A @ é Ko.9) C4 Agy2 Gg)
A) & é Kig+2) C4 Agio Ge3) L

Smec B) & é Kigyr2 C4 Ay Gioyy)
® @ § Kgpup Co Ay Gy
© @ & K,,;Cy Az Gy

© o é Kora C4 Agi4 G
D) & é Korg C4 Agiq Gy

D) & é Ko+2 C4 Ag44 Gy

4. OINT WWRUTT WOBS'IY, Lo W
4. In which type of vascular bundles are
TREONL wotde 3w BOTHZS

Xylem and Phloem present at the same

radius ? (A) TeBoHor
(A) Radial

B) J0We
(B) Closed e
(C) Conjoint (C) BoTPOOEIF
(D) Exarch

(D) @%'e;oﬁc N

Space for Rough Work / .0835 %’Ok’#ﬁ :!’é%"
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Conjunctive tissue is present between | 5.

(i) and @i) in @ii) .

(A) () Pericycle (ii) Endodermis
(iii) Dicot root

(B) (i) Xylem (ii) Phloem (iii) Dicot root

(C) () Palisade parenchyma (ii) Spongy
parenchyma (iii) Dicot leaf

(D) (@) Xylem (ii) Phloem (iii) Dicot stem

Identify the major site of biosynthesis of
lipids.

(A) Golgi apparatus

(B) Mitochondria

(C) Smooth endoplasmic reticulum
(SER)

(D) Rough endoplasmic reticulum
(RER)

The following graph shows concentration | 7,

of substrate on enzyme activity :

What does the Y-axis represent ?
(A) Temperature

(B) Velocity of reaction

(C) pH

(D) Pressure

Bowdeer worwody (1) RN _Gi) 3
SBF _(iii) . BE) FoBOWTIZ.
A) @ "w’b%ﬁ@ (ii) DOBRTBRFA®
(ifi) Y RT3
B) @ u';oo (ii) FREoIo (iii) @ﬁd%* 7\)’?%63
23edd
© @) mOFew TOTPR (i) oz
T, 07 (i) QBY AZT S
(D) (i) Yoo (ii) Ppgado (iii) QY Foord
BRODTN XTI, PVBOROB N
nROTOSR.
4) & LT3
(B) R)ede5a08,03%
(C) W PoBRTRRE BedByW (SER)
(D) 2.0 SOBRINT” Be3s= (RER)
FIR Bowtom SO0 39 ededTesOD
BeS  HORFES  BTADI  OTFO),
RRWRBT

B, Y-e5500 DR FINPRIYTS ?
(A) eme,-gaé’
(B) 803003 Bert

(C) pH
D) w33

Biology
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8. In the maize plant, CO, fixation occurs in | g8, dg@f&@eqj 335 T e’ BB Wore*
both mesophyll and bundle sheath cells. ée?ﬁmeéﬁﬁddd% faome)cs_c% -3
The enzymes involved in these cells for

e . BeoNE  FBONBB. B BoLoDH
the process respectively are, - s ™
(A) RuBisCO and PEP Kinase TR Srarivd, SRBTTN
(B) PEP Kinase and Pepsin (A) SORAR RI) Hw® G
(C) RuBisCO and PEP Carboxylase B) B FHex® 0B B
(D) PEP Carboxylase and RuBisCO (C) BOwAR R Fa* Torwr e

(D) e soewr e w08y DORAR,

9. In the following reaction, identify X and Y [ 9. 335 39N 0000308 $,0300308)

FeRERchive e508,03050N X 3583 Y o) S0 RRa :
2+

: : + Mg 2+

Pyruvic acid + CoA+NAD‘ —X—> .%&@69 Eﬁdgﬁ CoA + NAD* M§
Y + CO, + NADH + H* . Y+CO, + NADH + H*
(A) Water, Acetyl CoA A) e, @’%é’?}@c CoA
B) 283e° CoA, T30a5ee3”

(B) Acetyl CoA, Pyruvate B) i .Co _':g’

dehydrogenase @eéjd@ﬁé’m

-2 -5 059
(C) Pyruvate dehydrogenase, Acetyl ©) %)’d?ﬁew @%d@ﬁdm d Uwé%@)‘”
CoA CoA ]
(D) Pyruvate dehydrogenase, (D) ﬁe}wﬁew @%d@)ﬁée#’ ejiime
Oxalo-acetic acid LRIT® @5?,,
10. Which of the following factors is 10. [NISTI mﬁmwd mgemmmwﬁej@o
favourable for the formation of (@Qsojfaeeéj) B NI w03
oxyhaemoglobin in the alveoli of 583D R R BRRRAged
human lungs ? ] et _ i
(2v3803Rne) RBRWTTZONS ?

(A) High pCO,q o
(A) 330 pCoO,,

(B) Lower temperature ke o
(B) 3R eme;gaé’ .

. + .
(C) High H" concentration ©) ézﬁ%db o % o3
(D) Low pOy (D) 8& pO,
Space for Rough Work / 2,080 @03#* ig&*
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11.

12.

13.

14.

- (A)

Digestion of both starch and proteins is
carried out by enzymes of

(A)
(B)
©
(D)

Gastric juice
Saliva
Bile juice

Pancreatic juice

The type of epithelium found in the inner
lining of PCT is

(A)
(B)
©)
(D)

Squamous epithelium
Cuboidal epithelium
Glandular epithelium

Ciliated epithelium

Select the correct Rh-blood groups of the
parents, whose child is affected with
erythroblastosis foetalis.

(A) Both Father and Mother are Rh +ve

(B) Mother is Rh +ve and Father is
Rh —ve

Both Father and Mother are
Rh —ve

Father is Rh +ve and Mother is
Rh —ve

©

(D)

In which of the following groups do the
male and female gametophytes have
independent, free living existence ?
Bryophytes and Gymnosperms
Bryophytes and Pteridophytes
Pteridoi)hytes and Gymnosperms

(B)
©

(D) Algae and Gymnosperms

11.

12.

13.

14.

)

9=

AR, (MEFF) DR JpLeTNISES
23e£0F8,0300300 BTT $£91P0T SBAI0ITI
(A) =33 0x

(B) ©oew 3R

(C) &3T3

(D) Roegdnesess 83

PCT 93 03005880800 930808
e30M00o3

A) Do ODSeTT

(B) P88 oSeTs

(C) Roeod SeTF

Bresmnm3 WsoSeDs
faéqir_a)e@ﬁ%eme QPO ADIATC
BT 3ok FoOWNY ROAINT TR
ROOPYROTET S03030:), 0% ?

A) 303 @O&ﬁ@&%}df@ Rh +ve

(B) 3002 Rh +ve &03) 303 Rh —ve

(C) 3B 3?033?1@2%5@ Rh —ve _
(D) 30T Rh +ve 303) 39020 Rh —ve

B NI RS ™o R &R
Beay, OorromsIATy  (MREHERGE)
RBoZEmoN WEDB WYBRI) BRODTS ?

(A) T AN DI wTFT Wew
- AR
(B) oW AT FoBg g, ARNEd
©) T AN DR wZwen
RO
(D) F[orsd @03 w3 Wees I

Biology
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15.

16.

17.

The hormones of “Fright, Fight and
Flight” are

(A)
(B)
©)
(D)

Thyroxin and Oxytocin
Thyroxin and Melatonin
Adrenalin and Nor-adrenalin

Gastrin and Secretin

In the given options, which one cannot
propagate by vegetative means ?

(A) A marginal piece of bryophyllum

leaf

A  middle
internode

(B) piece of sugarcane

(C) A piece of potato tuber with eyes

(D) A piece of ginger rhizome

Among the following statements related
to pollens, choose the correct one.
In 40% of angiosperms

pollen grains are shed at
3-celled stage.

Statement I :

Intine is made of cellulose
and pectin and it is
discontinuous with germ
pores.

Statement II :

(A) Both I and II are correct

(B) BothI and II are incorrect
I is correct and II is incorrect

(©)

(D) Iisincorrect and II is correct

15.

16.

17.

.88

P, Par© DI P85 BRoDNT
(A)
(B)
©
(D)

ooty OB GEtiReAT”
GoosT 03 SOOLIRET®
BRIOT R TT° VBRI
AP =03 AGe’

INIINGY, SR FODT
RozRRe3g BREROL,

A)  WRIRO S0 BRVFIS” B0
(B) SuNBER 030N g LN

(C). SLRNBODS Beayish

(D) Bo0d GBI 2083 30T

Boondesontd  wif RSB BePENTY,

ROCIRTOBROT, BOTRR.

Dewgl: Besnd 40 TR SHBWew ARNGY,
Toon Begaonish 3 Bre3ny
BOIBEA, WRONBOIRTOES.

TePFIl: ROEI® FPTOED Reodrexe
BB BIF* QOB BN, WRFE
dogneomon
Q8033mNTRRY;

A) 130 11 20B» Bewdnsho FOCW:S

B) 1031 w3@» BePnen NS

(C) SBewd I FOCIRNTH) 1T BTN

(D) Bewd I TN IT IO03PNTS

Biology
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18. Match the animals of Column I with the | 18, #e0 I I H®o II 3 He3d Brody),
Column II and select the correct options & K
among the following : RO0INT 0300 SO :
o0 I go0o I1
Column 1 Column II
1. 8.3%.. I. BT°.00°.Q.
1. DNA I. RNA polymerase
replication SRR TOROTex®
2. Translation II. DNA polymerase 2. SRy I 8.03.0.
3. Transcription III. Reverse TRTex®
transcriptase )
3. I ADY I OB3F
4. Reverse IV. Aminoacyl ET »
transcription synthetase w_a)a?ﬁf#
4, OB F IV. edee-wier
Select the code for the correct answer ) . N
from the options given below : @RE@"F ROBESET
1 2 3 4 RoBe3ns Fz00H0T 3O YITNT), 0% :
A 1II v ITI I 1 2 3 4
(B) I Iv I III (A) II v III I
D) I I v 11 © II III v I
@ D) I - 1 1AY III
19. RRDd BeRe3NY Bo3TE) TWoIRBeE0N
19. When pollen grain is shed at 3-celled 22eRBRCBNT KO,
stage, name the cells it contains. =
(A) 1 3Bedeedsn® WeRdRe3, 2 RoRd
(A) 1 vegetative cell and 2 male Oormeaonsd
gametes
(B) 2 33Bedeedn® wewdned, 1 Rodd
(B) 2 vegetative cells and 1 male Soreas
gamete
(C) 2 wIBeederr® emdned, 1 Nowd
(C) 2 generative cells and 1 male O
gamete
(D) 2 Rod> dorweadnsh RB)
D) 2 mal t d1 ti
(D) Celillla e gametes and 1 generative 1 s3teiess 2emEnes
Space for Rough Work / .08 303%: :’éﬁ
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20. Even in the absence of pollinators, [ 20. wmﬁ@dﬁﬁep%@%d@ mmegﬁwg B3

assured seed set will be there in ,
DRAYE, AP TBRRLITTD
(A) Chasmogamous flowers
; A) WIBRTR® BAR)
(B) Geitonogamy
(B) 23eedRRRNgD
(C) Cleistogamous flowers _
(C) RRMTOR TR
(D) Xenogamy

(D) eBRMYeD

21. The process of conversion of non-motile [ 21, 30TT&L3 ;imrwwm,b ?3@503;3%
spermatids into motile spermatozoa is SecameraonTon N B
called Y

T3,0300308, &oert FSOWTOW

(A) Spermiogenesis
A) #@9}03.@@?323%"»"
(B) Oogenesis

(B) owAIRR®
(C) Sporogenesis

: (C) RRBREINZT
(D) Spermatogenesis =

D) IPoredpedsuz’

22. Several mammary ducts join to form a | 99 Do) [RRO e o VORI
J 3

ider structure called
e sromd SuERe083

(A) Lactiferous duct
(A) mgiﬁdx‘ P
(B) Mamm lobe
- B Bno Soer
(C) Mamm ampulla
i ©) B soo

(D) Mammary tubules
(D) BREP LBR/WROTHD

Space for Rough Work / 2,88 303%; %93
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23. The signals for the population process [ 23. VINSE BRI BIID ziraza’ﬁoi:aﬁgl
originate from B33 TBIBZ
w -0

(A) Muscles of uterus

(A) ~ nyor3od mqoiwmfo

(B) Fully developed foetus and placenta B) Dodpormn DG wam e

(C) Placenta 20033

(D) Hormones of ovaries and uterus

(C) =ooo30
(D) ©@owme3od DR NPr3odT

TORNREFI N
24. Match the following Column I with
Column I1 :
24. oI e;aﬁgl 500 II BrodR BRod :
Column I Column I
: oo I oo IT
1. Surgical methods I. Condom

1. AVFIY” S 1. BB Red

2. Barrier methods II. Pills 9. m?podoc‘ @@5 I m@ﬁ%

3. Natural methods III. Tubect
S L T ectomy 3. FANFB OIS 1L 3RO
4. Chemical methods IV. Lactational 4. TCOADIZ DT IV. SAFeRS
amenorrhea s

Select the code for the correct answer

- - - . .
from the OptiODS given belOW . Nogeéﬁ@ N@O&)QOd A0 W§dﬁ%’3§%€:§®?~) o

1 2 3 4 1 2 3 4
(A) III I v II (A) III I v II
@B I 1V I 11 : B Il IV I I
() Iv I I I (C Iv I I I
CON m- v @ I I m IV

Space for Rough Work / 2083 svﬁi‘, ;-'o;
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25. The following factors indicate improved

26.

reproductive health of the society. Choose
the correct option.

1. Better detection and cure of disease
2.  Better post-natal care
3. Medically assisted deliveries

4. Increased MMR

Select the code for the correct answer
from the options given below :

(A)
(B)
©)
(D)

2, 3 and 4 only
1, 2 and 3 only
1, 3 and 4 only
1, 2 and 4 only

ABO blood type in man is an example of
1 Pleiotropy

2. 'Incomplete dominance
3. Co-dominance

4 Multiple allelism

Select the code for the correct answer
from the options given below :

(A)
(B)
©)
(D)

1, 2 and 3 only
1, 3 and 4 only
3 and 4 only

1, 2 and 4 only

25.

2 6.

83 39N =R (e;eoeﬁ) R RBRB BwS?
esger, (a@csz‘gw %) mmaﬁo@d@t

ARWAZS  QRNIY,  ROCRWOTY

03P,

1 03> 000808 T TeRE 3
ROLDRRONT

2. TID a’?oédd SUBR0 IR
3.  Frseod SO TR
4. OTF.QF.GT. ézﬁeﬁ

3R DeRT @03%71@9013
QVUBTEN RoBEBTT0R :
A) 2,334 =0,

B) 1,230333 3R,
(©) 1,330834 B0
D) 1,234 I%,
BRIBI ABO TIZ  mooD)

SVTOBORIST
Q0303 e

RO033TS

a@ﬁeﬁl

1

2. TR TP

3. BB WO

4, do@mﬁ @O,

IR QBRI @oﬂ%ﬁ@dd
UZTTN ~oa”e§dmpﬁo g

A 1,203 3 IR,

(B) 1,3 0834 B0,

C) 334 =93,

D) 1,230234 R,

R00339TS

Biology
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217.

28.

29.

The codon on mRNA are
CAU - CCU - AAA - CUG.

Identify the correct sequence of amino
acids.

(A)
(B)
(&)
(D)

His — Pro — Lys —~ Leu
Pro — His — Lys — Leu
His — Pro — Leu — Lys
Pro - Leu — Lys — His

Choose the possible genotypes responsible
for lightest skin colour in human beings.

(A) AABBCC

(B) AaBbCc

(C) aabbcc

(D) AABbCc

Both male and female have normal vision
though their fathers were colour blind,
and mothers did not have any gene for
colour blindness. The probability of their
daughter becoming colour blind is

(A)
(B)
©)
(D)

0%

15%
25%
50%

27.

28.

29.

AR .ET°. .. DT Fode3nshd

CAU - CCU - AAA - CUG.
SN FOIRT ey ©aE ITEI0RY
TS,
(A)
(B)
(©)
(D)

His — Pro — Lys — Leu
Pro — His — Lys — Leu
His — Pro — Leu — Lys
Pro — Leu — Lys — His

WDHTY, B3cNT &9 WSFE wepd
B0 BeSPFTI), OR.

(A)
(B)
©
D)

AABBCC
AaBbCc

aabbce

AABbDbCe

nomd Iy TBeay, BYSR WRNT, G
BRODTHTINGY,  @RT . ZoWeIoRT
DOFOPS BROXTIZT Tome F030RTD
BRFORER  T0RmRRE  RomrRYR),
BROAVHAY, TowE3 & NoBdd B
BEIROT  WARE  Foned dmrozselo:bdgt

BROTI FOPTEONT DR ?

(A)
(B)
(®)
(D)

0%

15%
25%
50%

Biology
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30. Find the nucleotide sequence of the|30. ©oeIn =AY ITHR  NOBROTD
mRNA which codes for the sequence of mRNA 3280306833
’ 3 d

1o acids — .
e ‘Met — Leu — Val — Arg — Ala’

Met — Leu — Val — Arg — Ala’ and #6950333% 23 FPNTINPOT SO

choose the correct option from below :
(A) AUG - GAU — GAA - UAU - UGU (A)  AUG -GAU - GAA - UAU - UGU
(B) AUG - GAU — GAA — CGU — GCC (B) AUG-GAU -GAA-CGU - GCC
(C) AUG - CUA - GUG - UAU - UGU
(D) AUG - CUA - GUG - CGU - GCC

(C) AUG-CUA -GUG-UAU -UGU

(D) AUG -CUA -GUG-CGU -GCC
31. 3O FF ae03T 500030 B8 IPNI

81. Sickle-cell anaemia is due to the following O3RE MBI 5305536; oT3
mutant gene : ‘ DoRnRIBS ?
(A) CTC-CAC
(A) CTC-CAC
B) CTC-GAG (B) CTC - GAG
(C) CAC-GUG (C) CAC-GUG
D) GAG-GUG (D) GAG-GUG

82. In the given transcription unit, identify | 32. 33 39 ﬁméid)d 8, gwﬁ P3G 1

the regions I and II respectively. o3y 1T 3& gomn fotodk
Coding strand BREBON TOT®
W = ! ! e[ e [ !
3’ fEER [ER_ g 3 € . 0 5
' \eet> 8 5 = — =3
% Template strand e30336es" AROT

- _
(A) Promoter and Terminator (&) %mewv doég BR0FReEs”

(B) Rho factor and Sigma factor (B) 8.rag°(Rho) @%U‘ R0 9077%'@510"

(C) Terminator and Promoter (€) ea0Fdessc® daégb @me&c@

(D) Operator and Inhibitor (D) BGee30® =B B LW

Space for Rough Work / 2,083 302»’3* @03
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33. Which of the following sequences of | 33. QPNS) IS V£330 MRNA oD
mRNA are required for translation 6 5’; Se3 8,031 ﬁ@@ﬁ%dfa 32
process but are not translated ?

DSBS SRR ?

(A) Jeoned Rogesnsd
B) T3 FodeSnshd

(C) Rog Bogeansh
(D) o30.88.e30°.

(A) Stop codons
(B) Anticodons

(C) Sense codons

(D) UTR

34. Identify the palindromic sequence in the [ 34. 35 3INT GIPINYY, T,Oo@REAT

following base sequences : 8:933_5) T HBISY -
, 2
(A) 5-CGATA-3
U A) §-CGATA-3%
3-GCTAT-¥% - IR | ]
3-GCTAT-¥%
B 55-GGATCC-%

T T T T B P T o
v-bE1Ad s B b AGOIe

J¥-CCTAGG-5%
e ¥-CcCTGC -9

|0 T . ;o o
¥ -GGACG-5 e R Dl

33-GGACG-Y¥%
D) 5-GAATTG-%

e i M 5 -GAATTG- 3
¥ -CTTAAC -5 Ll |

33-CTTAAC-¥%

35. DNA, present in the nucleus, was named | 35. &3 80¢33¢03TAT DNA @Q‘&%@Qﬁ)&"

as ‘Nuclein’ by 20T FIOATH

(A) James Watson and Crick (A) e, TR R &
(B) Friedrich Miescher (B) @d@%‘“ Jo®

(C) Maurice Wilkins (C) Rnox* &)G%a:

(D) Rosalind Franklin (D) CrrRdom® T,oEy

Space for Rough Work / 2.0 _303!':; :!’é%*
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36.

317.

38.

When does the lac-operon in E. coli
become “switched on” ?

(A)
(B)
©

Repressor binds to operator
RNA polymerase binds to operator

Lactose is present and it binds to
the repressor

(D) Lactose is present and it binds to

RNA polymerase

The primary gases that were used by
Miller in his experiment are

(A) CHy NHj, Hy0, Hy

(B) CHy, COg, Ng, SO,
(C) CHy, COg, Ny, NHg

(D) CHy, N, NH3, Hy

From which of the given plants is the
drug whose skeletal structure is given
below extracted ?

OH
A

OH

(A)
(B)
(&)
(D)

Papaver somniferum
Atropa belladonna
Cannabis sativa

Erythroxylum coca

36.

37.

38.

Q. #egi3Q BT GToIT® SRR “AgF
s O3l ?

(A) 0PI B0, 830 T3 eE3T°

(B) &0°.07 .. TOROTER® Bow® &0
3BT eL30°

(©) 3R [T, W OBIT N
90830700

(D) CRBREA [T, T

RNA-529308e R 20830533003

QTR BF BOIRNBY, YUTOSRNAT
TDPAT GIONS 100D '

(A) CH,, NHj, Hy0, H,

(B) CHy, COg, Ng, SOg

(C) CH,, COq, Ny, NHg

(D) CH,, Ny, NH3, H,

33 R CROPT ART, BROAT RRTT

C_S)stdge 39 iraé,gddod ororoy m’m;@od
BRT3R0HDTINT ?

OH
N
OH
(A) Te0* a’me@i@’do
(B)  od&dp cam JQ@Enes
(©) Foor® Fede
D) oFRg w0 &7

Biology
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39.

40.

41.

The allele frequency of ‘A’ and ‘@’ in a
population are 0-6 and 0-4 respectively.
The expected frequency of heterozygous
individuals is

(A) 48%

(B) 36%

(C) 16%

D) 24%

Identify the odd one from the following :

(A) o-Interferon

(B) Oncogenic virus

(C) Proto-oncogenes

(D) UVrays

During replication of retrovirus

(A) Viral protein is introduced in the

host cell.

Viral RNA is introduced into the
host cell.

(B)

Viral DNA is introduced into the
host cell.

©

(D) Transcriptase enzyme is introduced

into the host cell.

39.

40.

41.

WOTD WEAROBOT ‘A’ DB ‘@’ ewdeer
RS (8O $e8Q) D ©F08RooN
06 DA 04 ©NSB, VBWRT
BTN e SRR

(A)
(B)
©)
(D)

48%
36%
16%
24%

QNG BRo3T 303, C3RTT AT :
(A)  0-Q0WT QT
(B) 508065 FT"
(C) Rpeedne Bodneden®

(D) O30.Q. 88N

oEin TR R BedeRmenomR

A) Poor Tpewer wdgieod dnedd
BOWOWIVRBIZT.

(B) For oSO .aF 0. 000 e3geod
B8 TOWOWRVRZE.

(C) Fo&¥ B.at.a. 00 ©3goDd
B8 TBOWODRORZE.

(D) ERTADR 86953 ©8Fecdd> Bredd
BOWWILRIZT.

Biology
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42. In malignant tumors, the cells divide | 42. SROMTIoLF BRROTNYY Boeand 86w,
ragidly alclld move to distant parts of the DPuBowon 33, BRSE  e@onnen
body and cause new tumors. This r
property is called @5:30652& BODF, B3 ﬁr%ﬁ@ﬁioé&)

| BRBT 30D, B NI, FSO30B
(A) Metastasis ‘ R
DeSOINTYT
(B) Metagenesis (A) dommjw
(C) Teratogenesis (B) RedIvT’
(D) Mitosis (C) HooednedSa®
(D) @"%W%W
43. The breeding technique that is useful to
expose harmful recessive genes is 43. TROFPS 6""’?.,’9*’@ z%eai)z’%a@ SR
- S
(A) Outbreeding WFRONIT, VRO T90833 C3NFTWOTT
Bez® e
(B) Artificial insemination &) SR
B) @35 pd0e” 930S
(C) Inbreeding 4 - =
(C) axfRerory
(D) MOET
(D) MOET

44. Germplasm collection refers to 44. %dﬂ-‘mﬂﬁf 506 2 2033

(A) Collection of all alleles for all genes (A) WP AR OWINY  @Q
in a crop. 9O FON,ERINE.

(B) Collection of all alleles for few genes (B) WS Foxy MORINY AR
in a crop. ©9DeRONS RO, &RONT.

(C) Collection of different alleles for all (C) Wed 23T oD WO, nomsecaons
genes in different crop plants. 368 23¢3 e2Oeeons FomRORNE.

(D) Collection of few alleles for all genes D) oz Wond  romond O
in several crop plants. 9DCRINE FOM,&RODE.

Space for Rough Work / 2,883 5"033* 3@#}
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45.

46.

The microorganisms involved in floc

formation during sewage treatment are

(A) Anaerobic bacteria and fungus

(B) Aerobic bacteria and fungus

(©)

Autotrophic bacteria and yeast

(D) Fungus and algae

Match the following bacteria of List I
with
List IT:

their commercial products of
List I List I1
1. Lactobacillus I. Butyric acid
2. Aspergillus niger II. Acetic acid

3. Acetobacteraceae III. Lactic acid

4. Clostridium IV. Citric acid

butyricum

Select the code for the correct answer
from the options given below :

1 2 3 4
(A) II II v I
B I v III II
(C) III v II I
(D) III v I II

45.

46.

dovi  QeTRY  ROIOROTIN  mEnY
Bo3ROCHE TERR
2BeANPOTT

(A)  ©3eBewE wdeoodn @8y 8deos,
(B) DBRWE W 3e008m 0 40t
(C) o0 Fpead W, EeO03R 083 B43,
(D)  &Deom B3 Fmorisd

RRF £30

500 I 3Q8E wRBONY), ovo II 8

otor em?ﬁm?mo@ﬁ BROD,
@Oﬁ%«?ﬁ\)@@ °
o0 I 500 II

1. RERCRHAOT I WYHOT &R

2. GIOBQT Fwo® II. LA &),

3. wAsdpeeRFdedr IIL OB &),

4. TIORBODT®  IV. AT &
2505

RoBens FHOLAOT FO LVFTRTR, 5O :

1 2 3 4
(A) 1III II v I
B) I v III II
(€) III v II I
(D) 1III v I II

Biology
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47. The technique of bombarding plant cells

48.

with high velocity microparticles of gold
or tungsten, coated with DNA, is

(A) Microinjection

(B) Biolistic method

(C) Heat shock method

(D) By disarmed pathogen vector

Choose the bacterium which is not a
source of REN.

47.

48.

R.a7.0. Sl TRRB Wwomned BTN
BonIT* ARY  FENTR), WEY Wertson Ix
B BREBNON B BB B.OF°.@. WIN
e0ROT PO VNS

B8 B0ES

wodeedrE HFE"

(A)
(B)
(C) &e&* T P
(D) 2-BIFE DBV FTO®

REN 3 S00e08Qp 598003500y
SOTRB.

(A) Haemophilus influenzae (A)  &CERYOT aabwai)ozé
-
(B) Escherichia coli (B) @’%Oe&m i@eg
: (C)  &7iRe3,8e00000 E0FESTD?
(C) Agrobacterium tumefaciens o ~
(D) RO ©:3)clpdBR TN,
(D) Bacillus amyloliquefaciens
, 49. ZNor® ©T o AT mRNA
49. Silencing of a specific mRNA translation @a&dea’a@ 532{ 03RR)IT DR
could be achieved through IRBRRIZE 2033
(A) Antisense RNA A & 0&3736‘; RNA
(B) RNA interference technique (B) RNA 0830°50x", éﬁz?‘
(C) Both (A) and (B) (©) (A) R (B) HTBOOTUR
D) R)3R Q0BT
(D) Microinjection () S=asn B
Space for Rough Work / 2,08 3033* :;5!
<
Biology | (19 -A)



50. In which of the following steps in DNA | 50. B.05°.@. WG9 JoT:o3E  BRS

fingerprinting technique are labelled 20389 13843 VNTR e ReRd
VNTR probes used ? _ i S TR
WHROZT ?

(A) During isolation of DNA A) B.oF.0. 0335‘?4 0B oec3esze

(B) During digestion of DNA by REN BRRTN
(C) During electrophoresis B) 8.05.R. 0303% B0°.9.0°. NPT
FBOROTON

(D) During hybridization
(C) @@i%‘{)@d@?ok‘" wRBOTON

(D) T[REREST SRBTN

51. dsRNA is used to develop pest resistant

tobacco plant by a technique called 5l. dses0".oFF.. O&)&Z w9y &e@ENdReds

(A) Polymerase Chain Reaction (PCR) 30 7371);55% BB 30@@35
(B) RNA interference (RNAi) 4) ORI Y© §oD (®-2.60°.)

(B) 0708 .. BOLT PSS,
(e:scf.eba‘.@.m.)

(C) Electrophoresis

(D) Insertional Activation

(©)  aSRAFRSR’
(D) BIRIFI* faaseeﬁ%dﬁee‘-&a‘

52. The interaction between ' “Cuckoo and 52. “&nR ma} 2oene’odd 90308 gmga
Crow” is an example for ”

NTRBORVRIZTS
(A) Competition (A) POBURT
(B) Predation B) &BeRS
(C) Brood parasitism ©€) Wz mdmﬁbwﬁo
(D) Mutualism (D) 53%&5%033@"»’0

Space for Rough Work / 2.8830 3033* P
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53. Verhulst-Pearl logistic growth is|ga dN = K—N} 30063080 DO TR
described by the equation dt - K 3

dN _TK-N B : BT RBRF  WITELRODI)  DPOVT,
E—r g |’ where ‘¢ and ‘K e 2
Q0T8T Rod) K’ ARNI), BRI
represent
- Bees* es°
(A) r - intrinsic rate of natural @ r faaeéédﬂﬁ‘ ¢ & 3%233(3@"
decrease, K — carrying capacity ®8,e7*, K - 53,00000m° %m?sms
(B) r-—intrinsic rate of natural (B) -9, ;\ia@ 36t esg® D) RHoe®

increase, K — carrying capacit,
e BTGOT, K - 53,0000 ST,

(C) r-—extrinsic rate of nafural
increase, K — productive capacity (C) r- oFHERF Jeer @ JYWooS*

(D) r - extrinsic ‘rate of natural | Gex*, K - @)diffae 6@;’{’@3

decrease, K — i cit
PO ARG BPA D) r- ST o e WPTE
@3,0x°, K — 5,0000077 3R

54. Net primary productivity (NPP) in an
ecosystem is

(A) GPP-R=NPP
(B) GPP +R =NPP
(C) GPP-NPP=R-

54. ZOXT dsdszodag NPP (&3¢ mpaos
ema@p%é) o3
(A) GPP-R=NPP

(B) GPP +R=NPP
(C) GPP-NPP=R

DR gl 157 (ale | (D) R-NPP=GPP
55. B3 BINSPNYY, 0IRIB> TOIT FHIFOD
55. Which among the following is not a 303038 Ln=mone),?

functional unit of the ecosystem ? -
(A) BTOTPCARN®
(A) Decomposition
(B) IReyodowr Fgon

(B) Nutrient cycling Bes

-
(C) Energy flow (C). OIVF TR

(D) Pollution (D) WOXT M@das

Space for Rough Work / 2,883 8033" :!’g?
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56.

57.

58.

Match for M and N with species-area
relationship shown in the graphic
representation below and choose the
correct option.

A M
1]
3
£
g5 N
0
Q
[¢))]
Area —>
(A) M—>S=CA%Z N->logS=1logC+
Zlog A
B) M—>S=CZ%N-ologC=1log$ +
Zlog A
(C) M—>S=CAZ N->logS=1logC +
Alog Z
(D) M—>S=AZ° N—>logZA=1ogC +
log S

Select the option from the following which
is not a major characteristic feature of
biodiversity hotspots :

(A)
(B)
(&)

(D) Large number of exotic species

Large number of species
Destruction of habitats
Abundance of endemic species

The biomagnification of which pollutant
causes a decline in the bird population ?

(A)
B)
©)
(D)

Mercury
SO,

DDT
NO,

56.

57.

58.

Sdabg M D3 N nids Reeds,
BYeR-TBB  RowoRR), RO

Ro0uRT &5033080.
1 M
K
%)
(o]
I
&) N
B
‘1‘3.
B
B3B3 —>
(A) M—>S=CA%Z N-logS=1logC+
Zlog A
B) M—>S=CZ: N-logC=log$ +
Zlog A
(C) M—>S=CA% N-logS=1logC+
AlogZ
(D) M—>S=AZ°,N—logZA =1log C +
log S

BeR FOGIZ WRTNY  MoredSemnsd)
BIOTBQRR), 3 NS B3NPos 508 :
(A) IS Bos303 WrIernsd

(B) R RN T8

(C) B Rosf o3 ARV BIewned

(D) BB 705,03 BRSNS Blemned
3R BROF, 908 BooI0FR) Ty, BoBOR
F00T3 FeedReD 5880

(A) BT

(B) RAOC Fud =

C) &.8.8.

D) FEpeRs gud &

Biology
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59.

60.

Snow blindness is caused due to

(A) Global warming

(B) Ozone depletion
(C) Greenhouse effect

(D) Biomagnification

Match the items of Column I with those of

Column IT and choose the correct answer.

Column II
IgA

Column I

1. Hepatitis B I
vaccine

2. Preformed II. Against snake
antibodies venom

3. Colostrum ITI. Neutrophils

4. PMNL IV. Yeast

V. Basophils

Select the code for the correct answer
from the options given below :

1 2 3 4
A 1Iv II I ITI
B) I II v III
¢ v II I A%

D) V II v I

59.

60.

(B)

RRE U 0T IT, 00T ABOOT
QVOERNIZT

(A) PNST BDTRRS

bednes TET Feead

BRVOBOS BOFFO

uof)foewaasfl@éeaﬁa‘

©
(D)

oo 1 SOBEIneR) oo II
SODoBRROR Beod, ROCIRE VBRI,
SOERB.

o0 [ Fo®o II
1. IJegesm 0. oad I IgA
2. JTORIE I TSI dRD
E3083LIORT® &)docgp
3. NEaY T III. SRERHSS
4. &.08F.QF .. IV. 00T,

V. Bedneer

Ro8e3ny FToeN0T IO YVTNRTR, HOR :

1 2 3 4
A 1Iv II I III
B) I II v III
< Iv II I v

D) V II v I

Biology

Space for Rough Work / 2,083 ioxa; :C}D%‘f

(23-A)



T, J3es Toeg - 2018
Qoo DHo» oD
18-04-2018 8@59@@ 28. 10.30 dom 11.50 T R[3A

[N dncw

71653 LHOBNSD Wi 0T O30T BDLH riaag (O fa)
60 80 JwInh 70 JwJNeh

R, Aqed Bo3 oDy, WBoRd

SR :

Sos e e

[’ iy =Y pt)

3o HedpwtEoon & I, TBoDy, AR 28 B 8T J030, @onB B. 10.30 T [038 FREGLOJID.

LR0T0" YVZT BIFORY I Tded TIRY BOOTIOADT ABE3 xoaizS P, BRI 2,08 SNBODH HOTH ma@n&e cso@eﬁo»m%

| AR Jerods TBTEIOD W) L.00.8T°. 3T TIFOH [TFT® 8RR wOTWe SNDRTR), LWOEVRAERE,

TP, BIFoH BAFT Bea I FH FOBOHR, DI BACTY IHuT WL,

=7 =

8.20.607. &v30 BdFOD YN INDT WrTY Terer R [RELER.

ZerLea :

1
2.

B N

10.

$0.030.680F, 0IC TIFoDY OABTNDS a.i.,\;nooz'xtr msrab_l éc‘gwadub |/ TOHTRBERTED /| YORCD.
Soedde o' B 1040 3 ud3n. vQabItRA,
3, BIBODH wOPPRABIDT 2eer B, SROPLVT.

BFOD 2,918 AT TFRYI), SeeBed FoH IR
0.80°. QUE0 TIFODY HVBORN TTORILVTT.

@z.%@?m?ﬁ 008, BRWEINH

T3, TSFODQ 2.4 60 TIriew), TS JJrie 4 wB ol WITRH AIS.
Heode Bof wonB . 10.408 S030 TP, TFH WOPNBIDHT Aeer IR B TP TIPoHY SPPYTe DERNWD BNOZTARTIe
QI FOB WOTY VBFH TOW BRCNGH P o3RFe DWONDd BN DOLNTNY, NWIIREROBD, 81 ded BAGT
BRRSe 8RBR H0ed08008 TBTEFOD, WBRONAERY, JOBT  £.20.590°. 403V BEFoHY V3OO TVBOPROTHT.
FINOOT 70 JwHINYY :

o TS TBOL®, SPPBWOT BB,
3 B0 U SALITHT ooy wEd BodHoh WWITAYY HOoIRE $VIBTR, ol IRA.

3, BFODYT TIR ODMVTONDS O G0ITIW, b.20.8T. IV BYFoHY wue FF Roajod FHOT ARWS FOWOPAT
ZRN, VD LPTD T, THONCD T TOWOET BITNOT FoTRF SDOLVJHT.

Bocied 3 3, 3=orish wroNG METHODS
CRECTMETIOD |ls0 @ ©® ®® O0¢¥ OO 0O
@ ® O Oleeeod ®®©O®

8 L.00.00° 03T BIFOLI), TS JRRT W, IO WEY RPN Xy DI, IB TDORIB. SFOOT L.20.8T. 03T
TIFODY HVBOMTONR HPOE B,

T3, BBONQ BRLHT 00 /NI, BT O, WTOIREAL. £.20.60°. $0B8 BEFODD), B, evTodeenTLea.

dodoh B ©out & 1150 8T 3030 WIDRIEI, A, AR, HBA, BYTY DI, O WNTY Tos.

L2080, gD TSfoha, SoUl Soedmoion chgeysohy edo.

BroR edpmostd heopnid Bovob, gséeu. (Fad ) Y, IIRY AAPZeOBD ITWOODH  ODPOTIODI, (VPRFOD TB)
wgornen Jodbo ﬁuémmqn i dnodaobes dnmbized.

&30 TFOH TP, 2O TRF 0O WOFITN BB

333 oFB0h [IAYY NI wRRFAYR I[WRIRY I0QZTNDTI IZNRY L OTWTECR  FoBBITY  RONT  UF3ob
TP HEEODR, BReBLIBD. ;

@&

(&

° 84
)

&

(&

@

&

Biology (24 - A)



